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7|2k 20249 12 1455 128 31271K]
YA
@y a3 | Fax
axt P 2 Hlgz|gel | 7|et | 23Rt 7!?.'-51 =HX LHd = Clpn!
£ | us| sl Sl
i | 2023-1-14 | MeAtel | HIXIE EESE! 100,000
2 | 2023-1-25 | XIAEl | HIXIZ he! 10,000
3 | 2023-2-15 | X%AEl | HIXIE EERE! 100,000
4 | 2023-2-27 | Ml | HIXIE he! 0,000
5 | 2023-3-15 | XIAEl | HIXIZ EESE! 100,000
6 | 2023-3-27 | XIAAEl | BIXIZ he! 10,000
7 | 2023-4-15 | X=AEl | HIXID EESE! 100,000
8 | 2023-4-25 | XIAEl | HIXIZ he! 0,000
9 | 2023-5-15 | XIAEl | HIXIZ EESE! 100,000
10 | 2023-5-25 | XI%fAkEl | HIXIF he! 0,000
11| 2023-6-25 | XI%fAkEl | HIXIZ EESE! 100,000
12 | 2023-6-25 2 801X} 24001 Xt 613
13 | 2023-6-26 | XI%AbEl | BIXIZ Jhe! 10,000
14 | 2023-7-15 | XI%4AtEl | HIXI olgdle 100,000
15 | 2023-7-25 | XI%4AtEl | HIXI he! 0,000
16 | 2023-8-16 | XI%fAkEl | HIXIZ EESE! 100,000
17 | 2023-8-25 | XI%fAksl | HIXIF he! 0,000
18 | 2023-9-15 | XI%fAtEl | HIXIF EERE! 100,000
19 | 2023-9-25 | XI%4Atel | HIXIZ he! 0,000
20 |2023-10-16] XISiAtal | BIXIE EERE, 100,000
21 |2023-10-25| XIeiAtal | BIXIE he! 10,000
22 |2023-11-15| XIeiAtal | HIXIH EESE! 100,000
23 |2023-11-27| XIeiAtal | BIXIZ he! 10,000
24 |2023-12-09| XIiAtEl | X e 1,000,000
25 |2023-12-13] XI%iAtSl | XD RIE, 750,000
26 | 2023-12-24 Ol X2 &t 01201 Xt 722
27 2023-12-26| XISl | HIXIZ JHel 10,000
2-1 AU HIA
CEH 55 | 2ax = S2X LH =l
zy S
X1 A3 I XI & EO0Y t 276 740,230
1o XI2i At3] I X1 & F000 t 78 338,900
XI5 HI XIS @ 20 2MHE 430 6,579,000




NN HIXI & O B & 1,560 4,056,000
PN HIXI & (F) g0 2= 108 1,652,400
NN HIXI = EOO0DOO s K 102000
O¥ = 10 34,000
yNE=YNE HIXI & 0000 o & 8 81,600
NEINE HIXI & 2000¢ o & 12 122,400
BHRH 4 40,800
NEINE HI XI & 000
=oig 8 68,000
NEINE HI XI & z0 oH&H 12 122,400
XIS AL 3] HI XI & MO BHRH 8 81,600
yNE=YNE HI XI & E0% o &k 12 122,400
NEINE HIXI & JOOOM Bh& 12 122,400
X < A3 HI XI & 3Ll BH&H 8 81,600
BH&H 13 132,600
PN HI XI & 0ooE
= 13 66,300
BHRH 12 122,400
XIS AL3] HIXI & 200
= 40 272,000
NEINE HIXI & 1000008 oo 128 108,800
NEINE HI XI & HOOOOH U 50 361,500
PN HIXI & 2000¢ =0/g 20 204,000
XIS A3l HI XI & NOOOOH o 200 170,000
NEINE HIXI & 2000=& X 2| 24 163,200
NEINE HI XI & HO WA AA 20 120,000
NEINE HIXI & 20 28t 30 76,500
PN HIXI & 200= BHRH 7 71,400
NEINE HI XI & Z2000& oH&H 4 40,800
yNE=PNE HI XI & OO0 oo 70 50,400
NEINE HIXI & BE00H Ho= 3 150,000
NEINE HIXI & 210000E %) 2! 10 143,650
NEINE HI XI & HOO OF = 20 340,000
NN HIXI & 210000E WEl 10 143,650
NEINE HIXI & HOOOH = 20 340,000
NEINE HIXI & & g0 2= 162 2,478,600
=] P~y
NEINE HI Xl & EOOO000 — ‘ -
og = 12 40,800




XIS ALS] HI XS (F) &0 == 162 2,478,600
2000000 gF&t 12 122,400
XA HI X & Ot
< = 12 40,800
XA HIXI & =0000# g & 12 122,400
XA HI XA =2000% BFEE 18 183,600
g & 6 61,200
XA HIXI& OO0
FOHE 12 102,000
K &AL HIXI& =0 BEE 18 183,600
XA HIXI& @) g & 12 122,400
XA HI XA £0d BFEE 18 183,600
XA HIXI& ZO00OH g & 18 183,600
XA HIXI& FOE g & 12 122,400
BE& 18 183,600
K= AE HIXI& CtOO&
= 18 91,800
BH& 18 183,600
XA HIXIH 2O00&
= 60 408,000
XA HI X & 1200s BFE 12 122,400
XA HIXI& =2000% g = 12 122,400
XA HIXI& TOOOH st 210 151,200
XA HIXI& 000002l S 192 163,200
XA HI X & HOOOOH == 75 542,250
XA HIXI& s000% FOHE 30 306,000
XA HIXI& NHOOOOH o 300 255,000
XA HIXI& S8000& SR Z bl 38 258,400
X <A HI XA FOoA M & A A 30 180,000
XA HIXI& 20 2 e 30 76,500
&= 320 409,600
XA HIXI& @ sO0=
HEE 20 17,000
XA HIXI& 210000& 2! 10 143,650
XA HI XA @ g0 == 54 826,200
2000000 g &t 3 30,600
XA HIXI& o
O =2 3 10,200
XA HIXI& =0000# g & 4 10,200




Xl AF3 HI X & 2000% Bk 6 61,200
I, 2 20,400
Xl AL3 HI X & OO0
=0/ 4 34,000
Xl Ab3 HI X & =0 B 6 61,200
Xl < AF3] HI X & HO HhH 3 30,600
Xl AL HI X & EOZ HhH 6 61,200
Xl AL HI X & HOOOM IS, 6 61,200
Xl AL3 HI X & cO8t BhE 4 40,800
CIEs) 6 61,200
Xl AL3 HI X & coos
= 6 30,600
HhH 6 61,200
Xl AL HI X & SO0
= 20 136,000
Xl AL3 HI X & 200= Bk 4 40,800
Xl AL3 HI X & 2000 CIEs, 4 40,800
Xl < AF3] HI X & 2000002 - 61 51,850
Xl AF3 HI X & HOOOOH == 25 180,750
Xl AL HI X & 2000 e 10 102,000
Xl AL3 HI X & NHOOOOH o 100 85,000
Xl < AF3 HI K| & 2000= SHXIZH| 12 81,600
Xl < AF3 HI X & O WHEFA A 10 60,000
X< AFS] HI X & 20 218 10 25,500
Xl AL HI X & BEO0= =Y 120 153,600
Xl Ab3 HI X & °210000E 2! 10 143,650
=&l 208FA 156,400
=2 = _;F_ == s
Xl < AF3 HI X & *OO?O ( £e3
AE> T 208t A 156,400
Xl AL3 HIXI & (=) 20 2= 54 826,200
- CIE, 2 20,400
X A3l HIXIS _ooifoo
o 2 P 6,800
Xl AL HI X & 20000 IS, 4 40,800
Xl AL3 HIXI & 2000% BhE 6 61,200
HhH 2 20,400
Xl AL HIXI & XOOOE
=] 4 34,000
Xl AL HI X & =0 Bk 6 61,200
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X AL 3] HIXI & MO oh 2 20,400
PN HIXI S £0% oz 6 61,200
K| A3l HIXI & =Sfelelor” oz 6 61,200
PN HIXI & =08 oz 2 20,400
o 6 61,200
PN HIXI & wele)=]
= 6 30,600
oh & 6 61,200
NN HIXI & HOOH
= 20 136,000
X < A3l HIXI & 100% oz 4 40,800
PN HIXI & Z000% oz 4 40,800
PN HIXI & 1000008 61 51,850
PN HIXI & ilelelelels] e 25 180,750
PN HIXI S 2000 =0ig 10 102,000
X < A3l HIXI MNOOOOH 100 85,000
X A3l HIXI & 2000& 13 88,400
PN HIXI & 2o 10 60,000
PN HIXI & 20 10 25,500
NEPNE HIXI & B S00E 120 153,600
X| < A3l HIXI & BEOOH 3erA 150,000
PN HIXI S AOO Of 1,0000 -
PN HIXI & (F) 20 54 826,200
NESPE HI X = EO00000 : .
og 2 6.800
X| < A3l HIXI & B SO0E e 120 153,600
PN HIXI 20 21 10 25,500
PN HIXI & go WA A 10 60,000
X AL 3] HIXI & 2000& X2 12 81,600
PN HIXI MNOOOOH t 100 85,000
PN HIXI & 2000 =0 g 10 102,000
NEPNE HIXI & ilelelelols] == 25 180,750
X| < A3l HIXI & 1000008 60 51,000
PN HIXI & 2000 oz 4 40,800
PN HIXI & 100% ohE 4 40,800




prar 6 61,200
NEWE HI % 200
2 20 136,000
ot 6 61,200
X124 Atgl oI % slelel=
2 6 30,600
NP I T £OH gt 3 30,600
NENE I %) Jeleler prar 6 61,200
NEWE HI % 0¥ prat 6 61,200
XIS Atgl ThE: HO grar 3 30,600
NEWE] I % 20 grar 6 61,200
grat 2 20,400
NEPNE] I X lelelel
Folg 4 34,000
NEWE I X 2000% grar 6 61,200
NENE I %) £0000% grar 4 40,800
et 2 20,400
NEWE] HXE | 2000000
O 2 2 6,800
NENE HI X £0000F prar 4 40,800
NEWE I X 2000% prar 5 51,000
gt 2 20,400
NENE I %) OO0
zolg 4 34,000
X124 Atgl I 7 20 grat 6 61,200
WL I T HO ot 2 20,400
NENE oI % 0% prar 5 51,000
NEWE HI X Jeleler" ot 6 61,200
XIS Atgl I 7 FO grar 2 20,400
grar 6 61,200
NEWE] I 7 & slelel=
2 6 30,600
ot 6 61,200
NEWE HI XIS elel-
2 20 136,000
NENE oI % nlet= grar 4 40,800
NEWE I 7 2000% prar 4 40,800
NN HXE | 2000002 1 60 51,000
NEWE I %) =2000¢ ol 10 102,000
NENE HI % pleleleler: 2”; 100 85,000




X oAt HIXIE 2000& EVE:] 13 88,400
X2t A8l HIXIS =lok ESESES 10 60,000
NEEPNE HIXIE T = 120 153,600
= EIES, 2 20,400
X% A8 HIXI ‘OOOE?OO
og =2 2 6,800
X2 A8l HIXIE 20000 BHEH 4 40,800
X2t AEl HIXIE 2000 BHEH 6 61,200
2 20,400
X2t Atl HIXIE 1000
4 34,000
X2t A8l HIXIE z0 6 61,200
X2t A8l HIXIE MO 2 20,400
Xl oAt HIXIS EO¥ 6 61,200
X 24 A8l HIXIE Jelelor" 5 51,000
X oAt HIXIE EOY 4 20,400
6 61,200
X & Atz HIXI S 0oos
6 30,600
6 61,200
X2 A8l HIXIE 2OO0H
20 136,000
X 4 At HIXIS 2008 4 40,800
X2t At HIXIE Z000¥ 4 40,800
Xl 2t A8l HIXIE 1000008 62 52,700
NEINE HIXIS 2000¥ 10 102,000
XIS ALE HIXI& NHOOOOH 100 85,000
Xl ot At HIXIE ok 10 60,000
Xl 2 A3l HIXIS Toen =2 120 153,600
- - 003 o ’
X % At HIXIE B 2003 HUE CEIEN 150,000
EEEYT | 32m/20utA 156,400
=2 2(=
X 24 At 8l HIXIS *OO?O“(T ADIEZR | 32m/108tA 78,200
gncSa3 | Rm/10A 78,200
= b 2 20,400
X% A8 HIXI ‘OOOE?OO
og = 2 6,800
X2t At8l HIXIE 20000 BHEH 4 40,800
Xl ot At HIXIS 2000% BHEH 6 61,200




20,400

KIS ALS AR 000%™
34,000
INEYAS- HIXI =3@) 61,200
PN HIXIE MO 20,400
X < A3l HIXI S EO% 51,000
NEPN HIXIE 0004 61,200
NEPNL HIXI £O8 20,400
61,200
X< A3l HIXI slelel=
30,600
61,200
X < Al HIXI 2O0H
136,000
X % A3l HIXI S 100s 40,800
KIS ALS HIXI & =000¥ 40,800
X AL 3] HIXI 1000008 51,000
PN HIXI 2000¥ 102,000
X Al HIXI S NHOOOOH 85,000
NEPN HIXI S o UESEES 60,000
NEPN HIXI T S5 153,600
SN2 = - T ,
SO0
X A3l HIXI 2000& X2l 88,400
X < A3l HIXI S ZABA €O 3= 413,100
= B 20,400
PN HIXI _002900
O¢g = 6,800
X A3l HIXI S 20000 e} 40,800
X% A3l HIXIE 3000% BE 61,200
o 20,400
XIS ALE] AR 000%™
=0et 34,000
PN HIXI S =3@) e} 61,200
X% A8l HIXI HO o 30,600
X% A3l HIXI S EO% o 61,200
XIS ALE] AR 0004 gHE 61,200
X A3 HIXIE EOg B 30,600
bt 61,200
PN HIXI S slelel=
30,600




B & 6 61,200

Xl AL HI KIS BHOOH
2 20 136,000
X A3 Bl X = 200= B & 4 40,800
WS HI XIS 2000008 oot 70 59,500
X L3 HI X = 2000 =0lg 10 102,000
Xl <4 A HI XIS NOOOOH e 100 85,000
Xl AL B X = "o WA A A 10 60,000
WS HIXI = 5000 SH X 2t 12 81,600
X A3 HI X = 20 2 10 25,500
X 2 A3 HI X = FAsA Sy 120 153,600
X< AL B X = FAIB A GO 2= 54 826,200
= BHRH 2 20,400

X A5l HIXI & “OOOE?OO

oL 2 2 6,800
WS HIXI S 20000 BHEH 4 40,800
XA HI XIS 2000y BHEH 6 61,200
BHRH 2 20,400

Xl <4 AL HIXI & elelel=;
EX= 4 34,000
WS HIXI = 20 BH& 6 61,200
WS HI XIS O B & 2 20,400
X A3 HI X = E0H B & 6 61,200
XA HI KIS Jelolel BHEH 6 61,200
Xl <4 AL HI KIS Ot BHRH ° 20,400
B & 6 61,200

NN HI X = lele)=
2 6 30,600
B & 6 61,200

X A3 HI K& BHOOH
2 20 136,000
Xl AL B X = 200 BHRH 4 40,800
Xl AL B X = 2000 BH&H 3 30,600
WS HIXI = 2000008 ey 64 54,400
X A3 B X = 2000 =0lg 10 102,000
X AL HIXI = NOOOOHE et 100 85,000
X< AL HI XIS HOo WA A A 10 60,000
Xl <4 AL HI XIS S8 000= X 2t 12 81,600
Xl AL B X = 20 210 10 25,500




FAIBIAF
NN HIXI = 126 161,280
= S00=
of 60 612,000
X 4 At HIXIS °OOSOOO
& 60 204,000
31 184,450
31 395,250
crel 31 395,250
22 31 184,450
ZOOS (200 o= ,
X AL HI X = ©O )( © 0 3 79.0%0
31 395,250
31 527,000
b} Ch 21 5 & =2 31 658,750
31 658,750
21 %] 31 263,500
I A3 HI K= AOO O SEHA 14004 -
R < T UEH
Xl AL HI K| = FAIBIAF 2O 2= 54 826,200
o BHRH 2 20,400
Xl AL HIXI & “OOOE?OO
O¥ 2 2 6,800
WS HIXI & 20000 BHEH 4 40,800
X A3 HI KIS 2000Y BHRH 6 61,200
BHRH 2 20,400
Xl <4 AL HIXI & 2000
=0lg 4 34,000
NS HI X = 20 BHEH 6 61,200
Xl <AL HIXI = O B & 2 20,400
X A3 HI X = E0H B & 6 61,200
WS HI XIS Jelolel BHEH 6 61,200
Xl AL HI X = Oyt B2k 3 30,600
B & 6 61,200
WS HI X lele)=
2 6 30,600
B & 6 61,200
X A3 HI KIS BHOOH
2 20 136,000
of BHEH 6 61,200
X A3l HIXI °OOSOOO
o = 6 20,400
X< A3 HI K= 200= BHEH 4 40,800
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X A3 HIXI zZ000%" ozt 4 40,800
— i 200 (200 SR 35(3kg) 743,750
) D] 35(2kg) 446,250
XIS A3 HIXI = 10000082 iy 65 55,250
X1 A3 HIXI & 80000= X 2| 12 81,600
X & A3l HIXI = 2000 =0g 10 102,000
X & ALl HIXI = MHOOOOH iy 100 85,000
XIS A3 HIXI = 20 =IT 12 30,600
XIS Ab3] HIXI = SO MR AA 10 59,500
X & A3l HIXI & TS c= 120 153,600
E00E
X & A3l HIXI = ZAB A GO S /MNE 250 3,825,000
Bra
X & A3l HIXI = O = (33) 1,560 4,368,000
XIS Ab3] HIXI & SHO000 & | A 10kg 402t A 2,000,000
XIS A3 HIXI & UOS?SOO B {0kg o5 900, 000
X1 A3 HIXI = & 010E =F 25974 2,856,196
X A3 HIXI = = Of;%&g ﬂgt 2110 639,900
X A3l HIXI & 5 200 HEE 3 A 702,100
2-2. =UHAM
EET £= sax 22 sax Ly HID
s2 e I ANKIE 3004
s BRI S| oS 2| 300H
s e Q| OlS THE 897K
se HIXI= o DlSSE 312 200
se HIRI= S| Zot ZOHE 9
se e S| Tot Z0HE 8
i-1e@ e HIXI & Q| BHAl J|E 120}
se HIXIE S| M 20kg 5 CH
se HIXIE Qa2 B 10kg 10 CH
s BRI Q| SIMBE {08A
s HIXIS o/ WE ==Y 3004
s HIXIE S| o2 130¢
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I HI K= e OLE ELk2t 4Dl
AMNESHIA
AB LR ABL o HUSATE 02 eV
1| o105 HeEsyl 40,000 HeEsyl
2 | 01-09 PR 40,000 e
3 | 01-09 EN 32,900 X 0pAl Y
4 | o110 EN 33,000 = 21 0F2H ALY
5 | 01-19 e 40,000 HeEsl
6 | 0907 EEEENE 500,000 500,000+ 124
7 10-13 T2 BRI 43,960 D2OYNHH (HBNZE)
8 | 10-31 | +9XI(2A6) | 200,000 200,000+ 124
9 | 1031 | fexI(2Ab) 100,000 100,000+ 124
10 | 1208 | *EXS(IAHI) | 600,000 200,000+324
4-1.5A2E AZHHA
ABUR | =N NENE NEX Lhet 42 | HD
(BH2CHAL RIS )
Ol Z X HA X
2023.01 2 _
BZEOOH _ 018X ¥ T2 BwE 38
- 12. D20y
GCED
03| x2! 10r2]
207X x2! 1012l
505 %2l 10r2]
Eo) x2! 10r2]
202.02.2 | _ | waxn xe 20 x2! 10r2]
4 HOO00= (1024) 20¢ H 1012
802 x2! 1012l
202 x2! 10r2]
A0 x2! e
209 x12! 10r2]
A0 = 1H
010 = 1H
%0 = 1H
01O0H = 1H
205 = 1M
20= = 1H
204 = 1H
. SO% = 1H
2023.02.2 DA X
HOO O N =208 = 1H
0108 = 1H
00 = 1H
A0= = 1H
HOOX = 121
A0= = 1H
HOA = 1H
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200l = 10

HOZ = 108

208 = 100

20= = 104

20= xl2! 10tel

BHOS 2! 10t2l

202 2! 10t2l

20= xl2! 10tel

2023.03.2 CHAHRE XI& 20 %21 102
4 HOCOO= (10¥) 204 X121 10tel
HO3g X121 10tel

=203 X2l 10tel

203 2! 10tel

BOx 2! 10te|

2O& = 10

oo4e = 100

AOA = 10

0lOO0H = 108

=03& = 108

20= = 104

=204 = 104

8t O= = 100

=203 = 100

2023.03.2 CHARE X2 802l = 194
7. HOOCOB (202) 0108 = H
Z=O0H = 10

AOA = 104

HOOXt = 108

20& = 100

HOA = 104

200l = 10

HOZ = 104

208 = 100

20=2 = 108

HOY == 60

20& == 64

HO= == 61

2O == 61

203 == 61

203 == 64

=0 == 6

=0g == 64

SOXt == 64

010= == 64

NOH =3 60

E{OF:! == 61

AMO= == 61

2023.01. 1 ] A Tl AOZ =2 ST
0.~ | FASIA O o KO 33 oM
03.31. (e7) 2402 == 6K
{@X=] == 61

=0¢t == 64

2O+ == 64

2O == 61

E{O)c:! == 60

E{O)s! == 61

203 == 64

IOk == 6
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MO 23 674

z08 3= 674

0% 3= 674

20 B, = 20H

2A0% shab, 2 274

HOS shab, 2 204

2OX BHEF, = 204

2023.01.1 208 BhEb, 2 204
0. ~ 200000 CHAMRE XK@ 203} BERH, 2 20
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EH@ Bt Xt ]
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V@)= gtz 10
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